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31-E

General Instructions :

i)

ii)

iii)

The Question-cum-Answer Booklet consists of objective and subjective types of
questions having 54 questions.

Space has been provided against each objective type question. You have to
choose the correct choice and write the complete answer along with its alphabet
in the space provided.

For subjective type questions enough space for each question has been
provided. You have to answer the questions in the space.

iv) Follow the instructions given against both the objective and subjective types of
questions.

V) Candidate should not write the answer with pencil. Answers written in pencil
will not be evaluated. ( Except Graphs, Diagrams & Maps )

vi) In case of Multiple Choice, Fill in the blanks and Matching questions,
scratching / rewriting / marking is not permitted, thereby rendering to
disqualification for evaluation.

vii) Candidates have extra 15 minutes for reading the question paper.

L Four alternatives are given for each of the following questions / incomplete

statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its alphabet in the space

provided against each question. 15x1=15

1.

Ans. :

Ans. :

31106

The employees of Sarabhai Chemicals respected and loved Sarabhai because he
(A) sent his employees abroad

(B) gave more challenging work to the committed employees

(C) personally supervised all the work

(D) maintained close relationship between the employers and employees.

Narendra also stood up in the class because
(A) he wanted to ask questions

(B) he was talking in the class

(C) the teacher asked him to stand up

(D) his friends asked him to stand up.




Ans. :

Ans. :

Ans. :

Ans. :

Ans. :
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3 31-E
Which one of the following statements according to Chandrashekar is incorrect ?
(A) ODIs can replace test cricket
(B) ODIs are highly entertaining
(C) Test Cricket will soon regain its popularity

(D) ODIs are very popular.

To work together is better than to work singly but the best of all is to
(A) work together for the common good

(B) sacrifice for a noble cause

(C) become more civilized

(D) help others.

Mahapanditji was very happy because

(A) Daksha solved his problem

(B) the intellectuals could not solve his problem
(C) the king scolded the intellectuals

(D) he was going to be declared the wisest.

“Have you gone mad ?” This was said by
(A) the king (B) the courtier

(C) passerby-1 (D) passerby-2.

The beggar maid entered the court with her arm across her breast because
(A) it was the custom in those days

(B) she was not feeling well

(C) she felt shy

(D) she had worn dusty clothes.
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Ans. :

Ans. :

10.

Ans. :

11.

Ans. :

12.

Ans. :

13.

Ans. :
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The bed of the Lord of Tartary was made of
(A)  ivory (B) beaten gold

(C) teak wood (D) silver.

Which one of the following words means ‘Valley’ ?
(A)  Wood (B) Pool
(C) Dale (D) River.

The poet has learnt to say good bye actually meant

(A) good riddance (B) see you again
(C) Dbest of luck (D) glad to meet you.
Why ...ooooviiiiii, you visit your friend yesterday ?

The auxiliary verb that is to be filled in the blank is
(A) does (B) did

(C) do (D) are.

Padma is an intelligent student.

Here the word ‘intelligent’ is

(A) anoun (B) averb
(C) an adjective (D) an adverb.
Many students come to school ..................... school-bus.

The correct preposition to be filled in the blank is
(A) in (B) into

(C) by (D) from.
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14. Tipu Sultan was as bold and brave as a tiger.
The figure of speech of the above is
(A) Metaphor (B) Personification
(C) Synecdoche (D) Simile.

Ans. :

15. Which one of the following words takes the prefix ‘in’ ?

(A) visible (B) expected
(C) popular (D) controversial.
Ans. :
II. Fill in the blanks : 5x1=5

16. Fill in the blank with the appropriate conjunction :

Mohan is intelligent .................ocooi lazy.

17. Fill in the blank with the appropriate article :

Gopal Swami iS .....ceovviiiiiiiiiiina.. MLA.

18. Fill in the blank with the appropriate form of the word given in brackets :

Kavithaisan ...........coeoeeiiiiiie ( honour ) lady.

19. Fill in the blank with the correct tense form of the verb given in brackets :

The teacher ...........ccooeevieiiiie.. ( be + praise ) by the officers at the department
last week.

20. Write one word for the following :

“A person who has been appointed or selected to attend or speak at a

conference” is .......coovvvviiiinnnn. .
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31-E 6
II. 21. Match the words in List-A with their meanings in List-B. Write the correct

answer in the space provided : 5x1=5
List-A List-B
a) generous i) high rank
b) tatter ii)  fine
) status iii) strong and powerful

d) deserve iv) ready to give help

—_ —~ =~ o~ ~
]

vi) to be worthy of

(
(
(
(
€) pretty (v) victorious
(
(vii) old and torn
(

viii) to make sound.

Ans.: a) b)
c) d)
e)
IV. Answer the following questions in two or three sentences each : 10 x 2 =20

22. What is B. S. Chandrashekar’s advice to young cricketers ?

23. What makes you think that Kalpana was different from other girls of her age ?

24. Why do people of Europe put on more clothes than the people of Asia and

Africa ?
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25.

7

How did Padmavathibai Burli help the freedom fighers ?

31-E

26.

What is the message of the poem “Work is Worship” ?

27.

What does the expression “laugh with their teeth” mean ?

28.

Why did the miser cry ?

29.

Why did the monkey advise Bhima not to go further ?

31106
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30. Why did the headmaster order Gandhiji to pay a fine ?

31. How did the Duchess get food when she was on strike ?

V.  Read the following extracts and answer the questions that follow : 5x3=15

32. “Observing his interest in Science, his father encouraged him.”

a) Who had interest in Science ?
b) How did he show interest in Science ?
c) How did his father encourage him ?

33. “I did not know anything about the cobra.”
a) Who is the T ?

b) What was the speaker doing when the cobra glided in ?

c) What does this incident show about the speaker ?
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34.

35.

36.
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“What would become of you then ?”

a) Which lesson is the extract taken from ?

31-E

b) When did the speaker say so ?

c) What answer did he get from the other ?

“They let me in.”

a) Who does ‘me’ refer to ?

b) When did they let him in ?

c) Why did they not let him in before ?

“And I have thought it died of grieving.”

a) What does ‘grieve’ mean in the context ?

b) When did the speaker say so ?

c) What was the reason for its grieving ?
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VI. Quote from memory : 4
S7.  “AS SHINES .o e ,
............................................................................................. was seen ;
(@) s TCI o) =1 1 1o TP ,
.......................................................................................... lovesome mien.
SO SWEET .ottt e ,
............................................................................................. never been ;
(070] 5] s (SR =TS (0] f PP ;
............................................................................................. my queen !”
OR

L 706 BB 0 )7 1 e
............................................................................................. to perform ;
|3 (S o] 21 o 1S PPN ,
............................................................................................. the storm.
JUAGE NOT vt ,
............................................................................................. his grace ;
BEhINd @ ..o e ,
.......................................................................................... smiling face.

VII. Answer the following questions in five or six sentences each : 2x4=8

38. What trick did Andy play on the postmaster and why ?
OR

Give a brief account of the last flight of Kalpana Chawla.
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39. What does P. Lankesh say about his mother ?
OR
Write the substance of the poem “The Miser And His Gold”.

VIII. Rewrite as directed :
40. Write the other degrees of comparison : 2

Bangalore is more expensive than any other city in Karnataka.

41. Change into indirect speech : 2

Prateek said to me, “Did you answer all the questions correctly ?”
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42.

43.

44.

45.

46.

IX. 47.
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Combine the following sentences using first as ‘too’ and then as,

‘so ... that’ : 2
The box is very heavy. I can’t lift it.

a)

Point out the difference in meaning between the following pair of words using

them in meaningful sentences : 2
hole, whole

a)

b)

Use the following word first as noun and then as adjective in meaningful

sentences : 2
satisfy

a)

b)

Add a suitable question ‘tag’ to the following statement : 1

The officer comes to the office in time,

Change into Passive voice : 1

She does not waste time.

Imagine that you are Pramod / Pranitha, X Std., Corporation High School,
Bangalore-1 :

Write a letter to your friend about your preparation for the state level
preparatory exam. You may add some more points, if necessary : 5

Scored good marks in first two preparatory — not attending coaching classes —
no private tuition — study for 6 hours everyday — discussion with friends — no
tension — expect 95% play in evening.

OR
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Imagine that you are Santosh / Sunitha, President, Wellfare Association,

Konanur.

Write a letter to the General Manager, K.S.R.T.C., K.H. Road, Bangalore,

requesting him to provide more buses to the town.

Population of the village — distance from Bangalore to Konanur 250 km —
commercial place — number of people going to Bangalore everyday — only one
bus early in the morning — not sufficient — four more buses from this place —

two more from Bangalore.
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X. 48. Write two paragraphs on any one of the following topics :
a) Noise Pollution
b) National Symbols

c) Family Planning.

31106



XI.

15 31-E

Read the following passage carefully and answer the questions that follow :

Many years ago there lived a cunning farmer. He had never made any use of a certain
little hill which stood on his land, and one day he made up his mind to plough its
grassy slopes to make a new field.

No sooner had he begun to work, than a dwarf appeared and in a very angry voice,
demanded to know why the farmer was ploughing up the roof of his house.

The farmer explained that he wished to plough the ground in order to grow crops, and
tried hard to persuade the little man to allow him to go on peacefully with his work.
“No !” said the dwarf. “I will not have my roof broken up, and my sleep disturbed.”
“Don’t you see ?” said the farmer, “that if I grow food on this land we shall both be
better off ? Look here. Let me use the ground. I will do all the work, and I promise that
you shall have a share of the crops I grow.”

“The first year you shall have all that grows below the ground, and I will have what
grows above it. The next year you shall have all that grows above and I will take what
grows below.”

This seemed quite fair to the dwarf, and he allowed the farmer to plough the ground.
But the artful farmer grew wheat on the land the first year and carrots the next.

49. What did the farmer assure the dwarf ? 1
50. Whose roof was it ? 1
51. Why did the dwarf object to ploughing of the hill ? 1
52. Why did the farmer want to plough the ground ? 1
53. What did the dwarf demand the farmer ? 1
54. What kind of a man was the farmer ? 1
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